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1 p
I.H&A1= 1 q 3ﬁ—{A2=
1 r

I 1
&R
P q

S

q
2
p
SRt prg#r, A
(@ 0
(b) EAW EATHE
(c) TR FMUTCHF

@ 3k p, g, r TTTHSF T N TS
FTAT HUTTCHF

A+ AR

2.3 (a—b)b-c)c—a)=2 R
a b [ 34
az b2 2

c & HH
a b 3

abc=6 %, @

TR ?
(a) 3
(b) 12
(c) 14
@ 15

3. freafafes & & fom wftel & anfm

a b c
b ¢ a
c ab

Arfores I BT ® ?

l.a+b+c=0
2. @+ b+ = 3abe

3. +b+c2—ab-bc—ca=0
A foy T g W@ W T IW
g .

(@) Faer 1 3R 2

(b) Fa 2 3R 3

(c) %ae 1 3R 3

@ 1,2°3R 3
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4. 3Tl A=[m n], B=[-n -m] 3K
c=| ] 3 v e
ﬁmﬁﬁq:

1. CA=CB
2. AC=BC

3. C(A4+B)=CA+CB
I H A B/ FAT G
?/%?
(a) ¥Faw 1
(b) &ad 2
(c) 23R 3
d 13R2

2sin@ cos@ 0
5.9 A=|-2cos@ sin@ 0] ¥, @&

=1 1555

A(adjA) Teas a=R © ?

() I e

(b) -1

(c) 1

d 21

et [ UF ToEnE AR € |

6. k% fovm w1 & foq smege

2cos26 2cos20 6
1-2sin%0 2cos?0=1 3

k ok
AN © 7
(a) ¥ 0
(b) ¥ 1
(c) ¥&e 2

(d) foedt off arafas am



1pgq Bk %
1LLIfA;=|1 g rlandAy,=|q r p
I“r p ripy

where p#q#r, then Ay + A, is

(@ 0

(b) always positive

(c) always negative

(d) positive if p, g, r are positive else
negative

. If (@a—b)b—c)c—a)=2 and abc =6,
then what is the value of

. Under which of the following condi-
tions does the determinant

a b c
b c a
cayb

vanish ?

l.a+b+c=0
2. @ +b+c = 3abe
3.2 +b2+c2—-ab-bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and 3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n —m)and C =[_':'"]

1. CA=CB
2. AC=BC
3. C(A+B)=CA+CB

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 2and 3
(d 1and2

2sin@ cos@ 0

L If A=|-2cos@ sin® 0 , then

-1 1 1
what is A(adjA4) equal to ?
(a) Null matrix
() -1
(c) I
(d) 21
where / is the identity matrix.

. For what value of k is the matrix

1-2sin%0 2cos’0-1 3
k %1

singular ?

[200529 2c0s260 6]

(a) O only
(b) 1 only
(c) 2 only
(d) Any real value

A - SDFR-S-HTM



7.WWA@WW%

R B=adjd ¥\ Toafoles * 3
FH-U1/F-7 F99 wEr &/F 2

1. AB = BA

2. AB & Hfew =g R

3. ABUF YA A B Wl ©
T Ry T g = W@ W @@ Iw
gfeg :

(a) Faa

(b) Fa« 1 R 2

(c) %ad 2
d 1,2 3R 3

8. 9WM Ffe F awt gl 4 IR B F
oy # fafafae @ ® fer
Fforg

1. Af AB & = egE }, WA AR
BH & ¥H-3-59 % & YA
e 2

2. A AB TF qoeHS AR ®, A
BA=AB®

IIGH A | IF-A1/RA-A FIT GE

R/% 7

(a) e 1

(b) e 2

(c) 13R2z=t

(d A 1,982

9.af% 4, Ffe 3 F T qwHS g
® 3R B w uRad § @ s
C=A+B % GRG & 77 471 § ?
(@ 1
(b) 2
(c) 4
(@ 8
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10. 99 T 4 3R B ®HE Fife F A
AT AR 36 WhR § fF 4B =4
R B4=B R | Fafofem & @
FH-T1 /-8 Fa9 TE /8 ?

1. A%2=4 .

2. AB2=4’B

¥ iU 10 g F W@ W T W
gfee

(a) e

(b) Hae 2

(c) 13R23gm=t

(d 71,782

11. (1+%)9(1—-§—)9%: R # fRR W
g7

@ 9

(b) 10
(c) 19

(d 20

12. (x + )10 % WOR & ey & FrafaRea

ﬂiﬂ?ﬁ‘!?ﬁ?ﬂ??ﬁﬁlq

1. wd % wft st F ¥ 67w F
TS H AW Afeewan §

2. TR 93 T TN, 97 Ug F Ui
F SR ©

I A A BTG /-] FI e

R/%7?

(a) Fae 1

(b) & 2

(©) 1323

(d JFAdML,AE2



7. Let A be a non-singular matrix and

8

B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(@ lonly

(b) 1 and 2 only

(&) 2 only

(d 1,2 and 3

Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of A and B is a null matrix.

2. If AB is an identity matrix, then
BA = AB.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. If A4 is the identity matrix of order 3

and B is its transpose, then what is the
value of the determinant of the matrix
C=4A+B?

(@ 1
() 2
(c) 4
(d) 8

10. Let A and B be non-singular matrices

of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. 42=4
2. AB*=A’B

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

11. How many terms are there in the

9 9
expansion of (l-i-%) (1—-%) ?

(@ 9
(b) 10
(© 19
(d 20

12. Consider the following statements in

respect of the expansion of (x +)!0:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

- 2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM



13.

14.

15.

16.

afe C3n, 2n)=CGn, 2n-7) &, @
C(n, n—5) o 1 & ?

() 42
(®) 35
(c) 28

(d) 21

C(51,21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +

C(51,27) - C(51, 28) + C(51, 29) —

C(51,30) & W T & ?

(@ C(51,25)

(S) C(51,27)

() C(51,51)-C(51,0)

d) C(51,25)-C(51,27)

300 3R 400 % st &, Vet forerett forem

T@n § fmw FE W s gREw
TRl BT o ?

(@) 32

(b) 36

(c) 40

(d) 45

W5 ‘TIGER’ & 3R & W fram

wag € o =) o el w T s
7l 7

SDFR-S-HTM - A

17.

18.

19.

(a) 72
(b) 36
(c) 18
d) 12

A b o dR B, wEwm
x2+px+g=0% T € | A a3 K
B3, FHERO 22+ mx+n=0 F 7 F,
a’rm-r»na?rmam%?

(@) p*+¢*+pq

®) p’+¢*-pq

(©) PP+4¢>+3pg

@ pPP+q*-3pg

| Fﬁ'ﬁQaﬁTﬁ, TR
xz—ax—bx+ab—c=Oa?‘E g1

T H-a1 o e @ foms g
a 3R pE ?

(a) xl—ax—ﬁjr+aﬁ+c=0
(b) xz—ax—ﬁx+aﬁ—c=0
() X+ax+Px+af+c=0

d P+ax+px+af-c=0

afe wfiao
xX*—ax—bx-cx+bc+ca=0% HA
TR ¥, @ Feafofea & @ -
wE R 7

@ a+tb+c=0
®b) a-b+c=0
€ atb-c=0
d —-a+b+c=0



13. If C(3n, 2n) = C(3n, 2n-7), then what

14.

15.

16.

is the value of C(n, n-5) ?
(a) 42
(b) 35
(c) 28

@ 21

What is the value of
C(51,21)-C(51,22)+ C(51,23) -
C(51,24) + C(51,25)-C(51, 26) +
C(51,27)-C(51,28)+ C(51,29) -
C(51,30) ?

(@ C(51,25)

() C(51,27)
©) C(51,51)—C(51,0)

(d) C(51,25)-C(51,27)

How many odd numbers between 300
and 400 are there in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

(d) 45

How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(a) 72
(b) 36
(c) 18
@ 12

Let @ and B be the roots of the

" equation X>+px+¢=0. If a® and

18.

19.

B> are the roots of the equation
x2+ mx + n=0, then what is the value
of m+n?

@ PP+¢+pg

®) PP+¢-pq

© PP+¢’+3pg

@ pP’+4¢-3pg

Let a and B be the roots of the equa-
tion x2—ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

@ ¥-ax-Px+ap+c=0
b) *-ax-px+ap-c=0
(c) ¥+ax+Px+af+c=0
d P+ax+px+af-c=0
If the roots of the equation

P2—ax—bx—cx+bc+ca=0

are equal, then which one of the
following is correct ?

@ atb+c=0
b) a-b+tc=0
(¢) atb-c=0
d -a+b+c=0

A — SDFR-S-HTM



20. 9 HOT @ AR B (o> B), wHE

21.

22.

23.

x2~8.x+q=0a'7"1§%|
'ﬂﬁaz—ﬁz=16%,?hqaﬂﬂﬁ?ﬂ1
®7?

(a) -15
(b) -10
(c) 10
@ 15
n & 98 Afewaw 7w w2, P

o (301 +351), 57 & fawrsa R, i
TE g9 Eedr € 7

(@ 4
(b) 6
(© 7
d 8
2(2x1)+3(3x2x1)+4(4x3x2x1) +
5(5%4%3x2%1) + .oo. arvi oann. +

9(9%x8x7x6x5x4x3x2x1)+2 H HA
TR ?

(@) 11!
(b) 10!

(c) 10+10!

(d 11+10!

afe 4={1, 2,33 8, @ 4 ¥ 4w

g (UeR W) F R seua
g ?

SDFR-S-HTM - A

(@ 1
(®) 2
(© 4
d 8

24.9f% a, b, ¢ TUIR Avft (GP) ¥ ¥, Wi

a>0,b>0,¢>0%, ar frafafag 3§
¥ F9-9 gt § 2

1. a%, b2, c2 UieR Avfi (GP) &
2.4 L L i it ) % #

3. {/E,«/E,«/Egruﬁﬁ'{ it (GP) & §
¥ for T Fe = W W w9 S
Eﬁq: .

(a) Fa« 1 3R 2
(b) Faw 2 IR 3
(c) *aa 1 3R 3

d 1,2 3R 3

zs.trf%.'%fl, b, _b‘z*_cmavﬁ (HP)

# & @ frafelea & ¥ - v
g7

(a) a, b, c FHIER Aft (AP) F #
(b) a, b, c TR AV (GP) F &

(c) a+b, b+ec, c+a TUIER ol
(GP) & %

(d) a+b,b+c,c+aTATR it (AP)
R




20.

21.

22.

Let a and B (a>pB) be the roots
of the equation x> — 8x + ¢ = 0. If
a? — B2 = 16, then what is the value
of g?

(@) -15

(b) -10

(c) 10

@ 15

What is the maximum value of n such
that 5" divides (30! + 35!), where nis a
natural number ?

(a 4
(b) 6
(© 7

@ 8

What is the value of
2(2x1)+3(3x2x1)+4(4x3x2x1)+
SXAXINIXTY +1.. o0 cnene winses +
9(9x8XTx6Xx5%x4x3%x2x1)+2 ?
(@) 11!

(b) 10!

(c) 10+10!

(d 11+10!

Af A={{1, 2, 3}}, then how many

elements are there in the power set
of 47

(@) 1
(b) 2
(c) 4
@ 8

24. If a, b, c are in GP wherea> 0,5 > 0,

¢ >0, then which of the following
are correct ? :

1. a2, b2, ¢? are in GP

€3 =

2.4, 3, 1 arein GP

3. va, \Jb, c are in GP

Select the correct answer using the
code given below :

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and3

25.1f 8tb 5 b+c are in HP,

then 2wl:lich omf of the following is
correct ?

(a) a, b, c are in AP

(b) a, b, c are in GP

(c) a+b,b+c, c+a are in GP

(d) a+b,b+c,c+c_:arcinAP

A - SDFR-S-HTM



26. cot?15° + tan?15° S HF T § ?
(@ 12
(b) 14

() 8/3
d) 4

27. 7% Pyt 4BC #,
sinA«-cosB—cosC=0‘3 |
H1v B frad xR § 7

@ %

T
®) 7
© 5

n
@ 7

2s.trﬁza+ﬁ=-§ 3R 2tana =1 ¥,
@t tan2p forad SRR R 7

@ 3

®) 2

© 2

LW

(d)

SDFR-S-HTM - A

29.

30.

31.

gfe tan(45°+6) = 1+sin20 ®, 9@
-%<9<% T, T cos20 F " HI

7
(@ 0

®) 3

) 1
@ 2

"+ Fﬂ'&l‘ll sin260 = cos36, gt 0 T&
AR R | 9 1 +4sinf T HE T
?

(& fear war & £ sin18° = ‘/54'1)

(@ 3
() 2

) 5
(d 3

ﬂﬁ’tano:—%%,?ﬁsine?ﬂmm
o uHaT R ?

@ 3 B -3 T & v

(b) —%ﬁﬁ%aﬁ@m

© %amm—%
d) I9F F F g T



26. What is value of cot?15° +tan?15° ?
(a) 12
(b) 14
(c) 83

@ 4

27. In a triangle 4BC,
sind —cosB—cosC=0.
What is angle B equal to ?

8

(b)

e

(©

w|y

@

(STE]

28. Ifa+ﬂ=% and 2tana = 1, then what

is tan2p equal to ?

(@)

W=

(SS11\S]

®)

Alw

©

wnlw

G

11

29.

30.

31.

If tan(45°+0) = 1+sin26, where

_%< 0 <% , then what is the value of

cos26 ?

(@ 0
®) 3
© 1
@ 2

Let sin20=cos36, where 0 is acute
angle. What is the value of 1 +4sinf?

(given that sin18° = ‘54'1)

@ 3
(b) 2
© 5

@ 3

If tan9=-—%, then what can be the

value of sin@?
S e
(a) 13 but cannot be 13

5

' 5
| (b) 13 but cannot be 13

(c) —1% or —TS_,;

(d) None of the above

A - SDFR-S-HTM



32.

33.

0054 7—” a5 COS4 S—ﬂ

?
3 S?ﬂmﬂw%.

N|w

(@)

(®)

Blw

© 3

@ =

smz(-}w)—sinz(f--e)
foraeh sReR 8 7

(a) sin26

. (b) cos26

34.

(c) 2siné
(d) 2cosf
TF FEAER R UG &@fdsl a9aa W)
G ® AR W IR h EE T U
EASUS HEATER W1 § | Aol o Tl
fog W =oeRE F @@ sk Wi ¥

JAGT DI HEA: O AR 20 ® | TR
$ AT R ?

(a) hcosB
(b) hsin®
(c) hcos26

(d) hsin26

SDFR-S-HTM - A

12

35.

36.

37.

S WA F IAGT B0 60° ¥ aRafda
TER 0 W UgEdT € O Th @R
BT x HIR it B Wt @ | Afg @R
&t FATE 31 Hiex @, O Ao #
-7 T R ?

(@) 0<0<30°
(b) 30° < 0 < 45°
(c) 45° <6< 60°

d) 60° < 6 < 90°

= o
qﬁ tan 1(5)+tan l(%)=% %v Glﬁ
0<x<68, df x fores seR 2 ?
(@ 1
(b) 2
(© 3
@ 5
ITJF('.‘38i11_]x+cos‘l.a:=7|:'§, ar x forass
IR & 7

@@ 0

®) 3

1
(© N3

5~

(@



32. What is the value of 35. The shadow of a tower becomes x

33.

34.

477 451 metre longer, when the angle of
Cos” 7 Toos =g~ elevation of sun changes from 60° to 6.
If the height of the tower is \3x metre,
(a) 3 then which one of the following is
2 correct ?
®) 3 (@ 0<6<30°
(b) 30° < 6 < 45°
3
© 3
(c) 45° < 0 < 60°
d) % d) 60° < 6 < 90°
What is sinz(-g—+9)—sin2(-§——-6) 36. If m“l(%)"'m_l(%] =,€', where
equal to ? 0 <x < 6, then what is x equal to ?
(a) sin20 (@ 1
(b) cos26 () 2
(c) 2sin6@ © 3
(d) 2cos@

@ 5

A vertical tower stands on a horizontal

plane and is surmounted by a vertical 37. If 3sin"'x + cos™'x = 7, then what is x

flagstaff of height 4. At a point on the equal to ?
plane the angles of elevation of the
bottom and top of the flagstaff are 6 (@ 0

and 20 respectively. What is the height

of the tower ? o 1
(@) hcosd
(b) hsin ©
(©) heos26
(@) hsin26 @ %

13 A - SDFR-S-HTM



38. 9f§ tana + tanf = 1 - tana.tanB 8, &t

tana.tanB=1 §, @ Frafafea #F ¥
FN-TT (a+f) & wH # ¥ T AW

g2

(a)

|y

(b)

FN

©

w|y

/4
@ 7

39.afe (1 +tan@)(1 +tan99)=2 ®, @
tan(100) T HF HT © ?

@@ 0
(®) 1
© 2
(d) 3wd
40. sin0° + sin10° + sin20° + sin30° + ... +
sin360° 1 HA T & ?
(a -1
®) 0
() 1
@ 2

SDFR-S-HTM - A

14

41. 999 A={1, 2, 3, 4} & @+
Juaeadl R fER it | s d

frm wp=aa (4} & st € 7
(@ 6
®) 7
() 8
@ 9

42. 9 s aHaal 4 3R B & dam ¥
frafofaa @t w fmr 6ifig .
1. xg¢(4AUB) = xgA 94T x¢B
2. x¢(ANB) = x¢A IR x¢B

I H | D-G1 /-8 99 qE
R/% 7

(a) Faa 1
(b) a2
(c) 1323t
(d Fd 1,782
43. 3 fieh o=l 4 3R B & waw #
freafafes st | R fifto .

1. AUB=ANB 3k R Fa= afe
A=B

2. AAB= @ af¢ 3R aw afc A=B

SHE A & -G /F-9 FAT @
R/% 7

(a) a1
(b) ae 2
(c) 13K 23t
(@ T 1,TE2



38. If tana +tanf=1 - tana.tanf, where 41. Consider all the subsets of the set

tana.tanf=1, then which of the A={1,2,3,4}. How many of them are
following is one of the values of supersets of the set {4} ?
(atp)?
(@) 6
z (b) 7
@ %
(c) 8
n
® @ 9

42. Consider the following statements in

(c) % respect of two non-empty sets 4 and B :
. 1. x¢(AUB) = x¢A4 or x¢B
n
@ 3 2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are

39. If (1 + tan@)(1 + tan96) = 2, then what correct ?
is the value of tan(108) ?

(@) 1 only
(@ 0 (b) 2 only
®) 1 (c) Both 1 and 2
© 2 (d) Neither 1 nor 2
c
(@ Tofinite 43. Consider the following statements in

respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
40. What is the value of

sin0° + sin10° + sin20° + sin30° + ... + 2. AAB= ¢iff A=B
sin360° ?
Which of the above statements is/are
@ -1 correct ?
(a) 1 only
(b 0
(b) 2 only
) 1

(c) Both 1 and 2
d 2 (d) Neither 1 nor 2

15 A — SDFR-S-HTM



4. o} x2—51y+4y2=0% ar xRy T
afenfia emqef den & egewa IN ¥
94 R & 9R ¥ f=fofes ot w
A &ifv

l. REgH §
2. RTufiE
3. R 95Fs ©

S # A A-a/A-Y
R/E?

(a) %ad 1
(b) e 2
(c) ¥ae 1 3R 2
@d 1,23R3
45. Tt w=ag 4 R Rt off @9y R &
for Frafafea Fat w far fifvw
1. afs REg ?, At R ot g @

2. afc R gufim 8, 9 R st awfia
?

3.3 R wEws ?, @ R ot
HTHE

I A ¥ P91 /FH- FIT qE

?/8?

(a) Fad 1 IR 2

(b) Fa=2 IR 3

(c) ¥ 1 3K 3

d 1,233

SDFR-S-HTM - A

4.0 W q@ Bwiw ww oY, el
i=-1%7
@ -F

47. (E_%Jm H w9iE  (AiggEd)

(b)
(c)
(d) 2200

48. fr=fafaa wot w famar $Hiftc .
1. ’3'—!!,6%%%1131%, sein>32

2. 2 +3,7% R }, wetn > 38
S § ¥ FA-41/F9-¥ FIT G
R/R?

(@) a1
(b) e 2
(c) 1323t
(d Tar 1,982



44, Consider the following statements in

respect of the relation R in the set IN

of natural numbers defined by xRy if

x2- S5xy + 42=0:
1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above statements is/are
correct ?

(a) 1 only

() 2 only

(c) 1and2 onl)}

(d) 1,2 and 3

45. Consider the following statements in

respect of any relation R on a set 4 :

1. If R is reflexive, then R™! is also
reflexive

2. If R is symmetric, then R™! is also
symmetric <

3. If R is transitive, then R™! is also
transitive

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

17

46.

47.

i 8

What is the principal argument of T

where i =+/-1?

3

(@)

F=Y

(b)

|
ENE

()

1
4
@ &

What is the modulus of

[_B l)200 :

2 2

FN-

@)
® 3
(c) 1

d) 22%

. Consider the following statements :

e

- 3 is divisible by 6, where n>3

2 %+3 is divisible by 7, where
n>3

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM



49. 9 faenfeai # A 5 Rearfat A w dw

51.

oo =t @ g o et @ T @
fadw faenfedt = & & s @
qF ?

(a) 14
(b) 21
(c) 35

d) 42

.(Jc+1)hl % WER A, T T A

x
@+ )T T B (S T® x H
et "al § gafea B) ?

(8 C@n, n)x
(b) C@2n, n—1)x

(¢) C(2n, n)

(d) C@n,n-1)

afe fedt iR oft (AP) & womr 9
Tl W ARIRA, TEE WAH 11 WG &

ANTHS & a<eR §, 9 6% 99 20
9 1 AR T R 7

(@ 20
() 10
© 2
@ o

SDFR-S-HTM - A
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52.

53.

afy fmdt awier AR (AP) &1 5T wr
%taﬂtmloﬁwa'%%,a‘rm
50 91 T JRTHA T BN ?

(@ 25
(b) 255

(©) 26

(d) 265

(1110011), = (10111), Trad wreR
?7?

(@ (101),

(b) (1001),

(© 11y,

(d) (1011),

. AfG x3+y3 = (100010111), 3R x+y =

(11111), & A (-yP+x e
IR B ? et

(@) (1101),

(b) (1001),
(c) (1011),

@ (1111),



49. In how many ways can a team of 5

51.

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
() 21
() 35

(d) 42

2n

. In the expansion of (x+%) , what is

the (7 + 1)th term from the end (when
arranged in descending powers of x) ?

(a) C(2n, n)x
(b) C@2n, n—1)x
(c) C(2n, n)

(d) C@n,n-1)

If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(@ 20

(®) 10

() 2

d 0

52. If the 5™ term of an AP is 1—10 4tid it

10t term is % then what is the sum of
first 50 terms ?

(a) 25
(b) 255
(c) 26

(d) 265

. What is (1110011), = (10111), equal

to ?

(@ (101}

(b) (1001),

(¢ (111)

(d) (1011),

 If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(@) (1101),
(b) (1001),
() (1011),

@ (1111),
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55. srafietat

57.

;aa‘ém FfteRor 1+(QJ2

5x-4y+12 <0, x+y<2,x<0 3R
y>0wﬁanﬁﬁmﬁmf%r%aﬁ%
-1 forg wdfrs 8 & € 2

@ (0,0)

(b) 2,4

() 1,4

d 1,2

LEET y=[x], xe(-1,1) % Haw H

frafafea st w fer fift, wef
[.] HewH qUiie Som R

1. x=0-5 W qH JaFa 0 &
2. 98 x=0-5 R §ad ¢

S H ¥ -6 /FE-R w9 ae
R/%?

(a) Fa« 1
(b) Fae 2
(¢) 13K 23
(d FA 1,782

4
d2y§
&) ~|&

& I 41§ ?

@ 3

(b) 2
(©) 3
d 4

SDFR-S-HTM - A
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58. T et werd & sm B A w,

59.

90 e F formm A & wHaT
R afe smm werd 100 Wt F &wm
B @, @ @ AR (sl
foris) = 2 2

@ Too

ot |
=153
(=118}

)
(v

(®)

8|

-y
—_—
o

|

© 4

8

2In2
100

@

BT f(x)=1-(x-1)? F AW w4
|

@ (0, 1)

®) [1, 1]

© (0,2

d [0, 2]

\UEH Y =4k AR TEE  AHEE

(dte| en) gr1 yRag 87 1 S
24 TS R, SRl A>0R | kT HA
TR ?

@ 1
(b) 2

S(c)i= 3

(d) 4



56. Consider the following

55. Consider the inequations

5x-4y+12< 0, x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

(@ (0,0
®) 2,4
(© 1,4)
@ 1,2
statements
in respect of the function y=[x],

xe(-1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5
2. It is continuous at x =0

Which of the above statements is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

57. What is the degree of the differential

4
2 2 3

equation 1+[%] =[%] ?

(@)

(b)
(©)
d) 4

w 3% w |5

21

58. A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

® oo

®) &

© Joo

@ o0

59, What is the domain of the function
F@=A1-G=17 ?
@ 1)
® 1, 1]
© 0,2
@ [0, 2]

60. The area of the region bounded by
the parabola )2 = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of k£ ?

(@ 1
(b) 2
) 3
d 4
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r dx =1 x
RSl 64. [ X dx frad seR & 7
o J.o (sinx +cosx)? s aowt 2 J-'z Il
() -2
(a ..% (b) -1
) 1
1 _
& 1 @ 2
© 1 65. sindx + 2x & foram wmE R /€, vl
0<x< -;5 27
3
@ 3 (@ 1
() 2
62. J'(sinx)_uz(cosx)'mdx foras =R et
g @ 8
v 1
e 66. W f(x) = —— ftrawem
T R, 0<x<%‘€'?
(b) 2+tanx +c
@ 7
(¢) +cotx+c
® 5
(d) +2tanx+c 2
' () 1
_[_€fdx R, W @ 2
T, A+ LT st ® 2 67. afe
; 4f(x)-f(%) =(2x+%) (Zx—%) g
o) Se A £(2) R swer R 2
®) x+c @
> ®) 1
(¢) In(e*+e™+c © 2

d) In(e*-e®+c ' @ 4

SDFR-S-HTM - A 22



dx

z
ol Gatas B8l .
61. W]mtlsj0 i xeh Gos Ay equal to ?

(a)
(b)
©

d

B |

B —

N

62. What is I(sinx)_m(cosx)'mdx equal

to ?

(a) Jtanx +c¢
(b) 24tanx +¢
(c) +eotx+c
(d) V2tanx+c

then what is I; + I, equal to ?

(@)

X
Z+c
2

(b) x+c

(c) In(e*+ e‘f‘) A e

d In(e*—e*+c

23

64. What is J: I%Idx equal to ?
(a) -2
(®) -1
© 1
@ 2
65. How many extreme values does

- 67.

sindx + 2x, where 0 <x < % have ?
(@ 1
(b) 2
() 4
d 8

. What is the maximum value of the

1

function f(%) = rs+ootx’

0<x<%?

where

(@)

| —

(b)

() 1
(@ 2

b=

If

4f(x)-—f(%)=(2x+%) (u-%),
then what is f(2) equal to ?

@ 0

® 1

© 2

d) 4

. A — SDFR-S-HTM



69.

70.

71.

afg £(x) = 4x + 3, T fofof (1) foFas
TR B ?

(a) -1
®) 0
() 1
d 2

M@y =18 (1L 1)E %ﬁmﬂs
TR § ?

(a) -1

() 0

(© 1

(d) 4

R y=@)Yy Mx=1x %mnﬁ
;R ?

@ 5
(b) 1

c)- 2
@ 4

qH HT y =[x+ 1], -4 <x<-3, &l
[.] W quils e R | x=-3-5 R x
& T F y & FGFAS T ?

(a)
®)
(©)
d 0

4
35
=

SDFR-S-HTM - A
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72.

73.

74.

75.

afe %=(In5)y, &l p(0)=In5 B, W
y(1) forees st & 7
(@ 0

(®) 5
(c) 2in5

(d) Sin5
W f(x)=10* F gaw # Frafafea
R e Hifte .

1. S Wid (~co, 0) &

2. 98 U% §ad Fe[ ¢

3. T8 x =0 R Fahe1g ¢
IYF AT I TN ?
(a) Fae 13K 2

(b) Faa2 3K 3

(c) %ad 133

(d 1,23R3

}i_% x3 (cosec x)? forarss seR © ?
(a) 0
(b)

(c) 1
(d) w1 a8 R

B | —

3
l' X _1
xﬂ&_lﬁ?a%aw%?
(@ 0

(b) 3
© 6

(d) = ifera 8 &



68.

69.

70.

71.

If £(x) = 4x + 3, then what is fof°f (1) dy _ : '

sl to? 72. If I (InS)y with y(0)=InS5, then
what is y(1) equal to ?

(@ -1 @ 0

il ®

© 1 © 2In5

@ 2 (d) 5ins

; . dy 73. Consider the following in respect of

equal to ? 1. Its domain is (0, )

(@ -1 2. It is a continuous function

(b) 0 3. It is differentiable at x=0

() 1 Which of the above statements are
correct 7

«.* (a) 1 and 2 only

If y = (x*)%, then what is the value of (b) 2 and 3 only

%auﬂ? (c) 1 and 3 only
(d 1,2 and 3

; _

@ 3 74. What is li_rgj x> (cosec x)? equal to ?

thy -1 @ 0

() 2 1
®) 3

d) 4
() 1

Let y=[x+1], ~4<x<-3 where [.] (d) Limit does not exist

is the greatest integer function. What
is the derivative of y with respect to x

atx=-3-5? 75. What is Eﬂ% equal to ?
(a) —4 @ 0

(b) 35 ; () 3

(© -3 () 6

(d 0 (d) Limit does not exist

25 A - SDFR-S-HTM



6. Fafafea & @ fFe sioe § wem

77.

7

'f(;r)=x?3--’2‘—2+6x+531m1=r% ?

(@) ¥ (-0, 1)

() (1,6)
(c) ¥4 (6, )

@ Eo, 1)U )

e x=2 W B f(x)= 2+ 2nx+1
& FEHASA YA ©, A m+8n H TA
TR ?

(@) -2

(b) 0

(e 2

78.

(d) IwETT g (321) & wror faifa
1 foran s waaT

T oy=x IR y=xF ¥ #, gga
wquiy # qAafia &= & fewe T
7

@ 3 ¥ T
() 5 ¥

© 7

(d 1 =t =

SDFR-S-HTM - A
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79.3fc xy=4225 ®, V&l x AR y GG

80.

81.

82.

A ¥, /N x+y T [T WA
7

(@) 130
(b) 260
(c) 2113
(d) 4226

LLIEaU x% -2y = 0 frefia wa
i

(a) T 6 @-Fo

(b) TF FA-FA

(c) TH Taea-Fel

(d) T egE-F

afc ficwi® (-5, 0), (5p% 10p) 3K

(54%, 10g) o fog WM &, T pg 1
HA F1 8, el p#g © 7

(@ -2
(b) -1
() 1
d) 2

99 G @1 H e & g S g
(1, -2) & ToRat @ R @l W =R
Fa:@e FaT © ?

(@
(b)
(©

(d

xt+ty-1=0
x-y-1=0
x+ty+1=0

x-y—2=0



76. In which one of the following intervals

e
is the function f(x) =

5

s +6x+5

decreasing ?

(a)
(b)
©
(d)

('_wv_ 1) Ollly
(1, 6)
(6, ) only

(—CO, 1) U (6i m)

77. If the derivative of the function
f(x)=1§-+2nx+1 vanishes at x=2,
then what is the value of m +8n ?

(a) -2

(b)
(c)
d)

0

2

Cannot be determined due to
insufficient data

78. What is the area included in the first
quadrant between the curves y =x and
L y=x2

(a)

(b)

(©)

(@

-;; square unit

square unit

FN

% square unit
1 square unit

27

79. If xy=4225 where x, y are natural

numbers, then what is the minimum
value of x+y ?

(@ 130
(b) 260
(c) 2113
(d) 4226

80. What does the equation x% -2y=0

represent ?

(a) A family of straight lines
(b) A family of circles

(c) A family of parabolas
(d) A family of ellipses

81. If the points with coordinates (-5, 0),

(5p?, 10p) and (5¢%, 10g) are collinear,
then what is the value of pg where
p#q?

(@) -2
() -1
(c) 1
d 2

82. What is the equation of the straight line

which passes through the point (1, -2)
and cuts off equal intercepts from the
axes ?

(@ x+y-1=0
(b) x-y-1=0
() x+y+1=0
d x-y-2=0

A — SDFR-S-HTM



83.399 99 H TR T T N WaH 86. w wfsw fomeft Prsr 4BC &Y spomait

Jquiy ® qF @t AR [Ty -2 =0t BC, CA 3R 4B ® w@=rzat &AY: a, b
afawarg? R c® | 3l p 3w Broqw &1 wRwma ik
g 8 €, @
@ x?+y*-2%-29-1=0 p(p—2a)mn(§)%ﬂaim% ?
(b) x2+)2+2x+2y+1=0 @ ¢
(€) X*+y*-2x-2y+1=0 g
(© 3¢9
(d) x2+)2—4x—4y+4=0 @ 4q
84. 7ifY (-3, 0) 3R far x-3=0 a@ 87.Th e @ x+2y+2=0 3R
RS T THIGR T ? 2x — 3y —3 = 0% wfe=ag fareg & orelt
? | 7 1Y wgaiy #§ R FaaEwE
(a) y*=3x AT § | @Sl & fARUE wET @
TR T 8 7 ;
() x*=12y @ 2
© y=12 (® 3
@ y2=-12¢ s
d 6
85. TgE A2+ 2)2=1 H Af@l ¥ di= _ _
Ny 88. T wfcet & srefie Y@
ax+by+c=03R bx+ay+c=0
@ 1 TR (a#0,b#0) T 7?
(@) ¥ a—-b=0
b) V2
(b) F&ad a+b=0
s Gy o2 jaeis
@ 242 (d) ab+1=0

SDFR-S-HTM - A : 28



83.

85.

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—2=07?

(@ ¥+y*-2x-2y-1=0
(b) > +y*+2x+2y+1=0
(¢) X2+y?-2x-2y+1=0

(d) ¥*+y*—4x-4y+4=0

. What is the equation of the para-

bola with focus (-3, 0) and directrix
x-3=0?

(@ y*=3
(b) x*=12y
(c) y*=1

@ y2=-12x

What is the distance between the foci
of the ellipse x2+2y2=17?

(@) 1

) V2

) 2

@d 242

29

86. Let a, b, c be the lengths of sides BC,

CA, AB respectively of a triangle ABC.
If p is the perimeter and g is the area
of the triangle, then what is

2(p~2a) tan(-g-) equal t0?
@@ ¢
(b) 2¢
(c) 3¢

(d) 4q

87. A straight line passes through the
- point of intersection of x+2y+2=0

and 2x — 3y -3 =0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

(@) 2

(b) 3

(c) 4

(d 6

88. Under which one of the following

conditions are the lines ax+ by +c=0
and bx + ay + ¢ = 0 parallel (a # 0,
b#0)?

(@ a-b=0 only

(b) a+b=0only

() a>-b*=0

(d) ab+1=0

L]
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89. X@r x+y=p3ﬁ_ﬁ€ﬂiﬂ? @t} FreA
R W Y@rEs & weafag F fagra @
w1 R, (ST p U arata®
e g) ?

@ x-y=0
() x+y=0
(€ x-y=p
(d x+y=p
90.3fc 753 (x, y) 75 (24, 0) 3K (0, 30)

%W@W%Wﬁa>0%’@f
Frafofaa & & Sa-ar vt @ 2

(a) 2x-3y=0

) 3x-2y=0

(c) 4x-6y+5a=0

(d) 4x—-6y—5a=0
I wm 03) v F frg fefafae w
ﬁqﬂiﬁﬁm:
TG 6x+hy+3z—12=0, V& k#0 ©,
s srEt = W 4, B 3R C R Frear
? | @G 3R 4, B, C & oA A M W
THIERW 2 +)2 +22-2x—3y—4z=0% |
91. kT HIH T § ?

(a) 3

() 4

(c) 6

d 12

SDFR-S-HTM - A

92. A p 7 F I | WO W ww=Ed gl
AR dddm-mad & 2

(@ 0<p<05
(b) 05<p<1
) 1<p<15
@ p>15

93, 7@y R MY F Iy A T A
XaT T wHER _ R 7

@ x=y=z
(b) 2x=3y=4z
() 6x=3y=4z
d) 6x=4y=3z

TR X (02) WE F forg Freafafaa w fer
i

2
T i 2T"‘+~:§i+-§—=2, fag
(2,3,-6)%w%|

94. THaw R foret afteie & Rg-sum
R

(@ <3,2 1>
(®) <2,3,6>
(c) <6, 3, 2>

(@) <1,2,3>



89. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x + y =p, (where p
is a real number) by the coordinate
axes ?

@@ x-y=0
(b) x+y=0
© x-y=p
(d x+y=p

90. If the point (x, y) is equidistant from

the points (2a, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?
(@ 2x-3y=0
(b) 3x-2y=0
(c) 4x—-6y+5a=0
(d) 4x—-6y—5a=0

Consider the following for the next three

(03) items that follow :

The plane 6x + ky + 3z— 12 =0 where k# 0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
2+y2+22-2x-3y-4z=0.

91. What is the value of k ?
(a) 3
(b) 4

) 6
@ 12

31

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<0S5
(b 05<p<l1
() 1<p<1s5

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

(@ x=y=z
(b) 2x=3y=4z
() 6x=3y=4z

(d) 6x=4y=3z

Consider the following for the next mwe (02)
items that follow :

Let the plane %+2Ty+%=2 pass through

the point (2, 3, —6).

94. What are the direction ratios of a
normal to the plane ?

@
(b)
(©)
(@

L S
<2, 3, 6>
<6, 3, 2>
<}, 2, 3>
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95.3fc 3@ wWaw gr1 Fews el w®

96.

97,

ST Y IATUS FA: p, g HR 7 T,
at (p+q+r) fooas st & 7

(@ 10
(b) 11
(c) 12
(d) 13

afe 4 + j -3k 3R pi +qj -2k WA
ey €, @ p 3R ¢ F ww=E AW
T FT© 7

@@ 4,1
(b) 1,4

©

w|co

2
3

(d)

W
w|oo

afe foreft Bt 4BC S st 4, B3R C
& farfa =fey s E’,?Sﬁ'{?%,
R G 3@ B &1 F5F 8, o 4G
forees s R 7

- o
(a) a+ b+ c

oy =

()

(@

SDFR-S-HTM - A
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98, Freferfas Faat w e Hifte .

l.ﬁmm,mmw

FATHF

I ¥ ¥ /A T @
/2 ?

() e |

(b) e 2

(c) Fae 132
(d 1,23R3

99. 7 #fg 7, b ¥R ¢ @ AR

wRw @ R & axb =2 2 | 3@
frafafea st w far 6ifvrg

Lafk b IR RemE A 7
et &

2.9 7 ik p Rum & & 2
afgea 2

S # ¥ F-a /-y T @
R/2 7

(a) & 1
(b) ¥ 2

() 13dR23=
(d TA1L, T2



95. If p, ¢ and r are the intercepts made
by the plane on the coordinate axes
respectively, then what is (p+g¢g+r)
equal to ? '

@ 10
() 11
(@ 12
@ 13

96. If 4 +j-3k and pi+qj-2k are
collinear vectors, then what are the
possible values of p and ¢ respec-
tively ?

(a) 4,1
() 1,4

o0

(c) 3’

@ 2.

w|oo Wi

- 7 = o,
97. If a, b, c are the position vectors of
the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is 4G equal
to?
(a)

- 7 -
a c

+b¥
5
-2 -
2a—-b-c¢
() S e
i e

(@

33

98. Consider the following statements :

99.

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative :

Which of the above statements is/are
correct ? :

(a) 1 only
(b) 2 only
(¢) 1 and 2 only

(d 1,2 and 3

- P =2
Ieta, b, c bgthree non-zero vectors
such that ax b = ¢. Consider the fol-
lowing statements :
-, i el — g
1. a isunique if b and ¢ are given

- . : g = .
2. ¢ is unique if @ and b are given

Which of the above statements is/are
correct ?

(a) _1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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100. 7 i 7 3k b, 2 = alw =

101.

R & f6 [d-bl|<2 ¥ 19R T 9k B
& ot = B 20 &, & Frafal § 3
FAT-9T WEl ® ?

(a) ¥ 0<sinf<1

(b) Fad ——;—<sin6<-21—
(c) aa —1<sinf<0

@ -1<sinf<1

1,2,3,4,5% € q 3 qgfoos &7 @
I A € 3R IR TH-geR @ om Fea
STaT ® | 39 S 6 . Wil € fh
= AT & 3o S 0 AT ?

a

(a) 10

(b)

Lh|—

©

(LS

@ 3

102.T% WM ¥ WW T4 (W) & IET

agf o (Thegehl A §Y) oTE
IR foww 2 | 9 @ 71 frsd e
ST Hehal ® ? :

(a) W}‘q‘rﬁi‘ﬁﬂ > g
(b) WA > Sgew > HifeuH
(c) wifers > A > S
(d) weas > "ifeh > 7

SDFR-S-HTM - A
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103. 99 HTHS WO T WEw 362 | afe

104.

10S.

T o § 9K NEw 2,2, 4,5 €, @
AN eqor 4T R ?

(@ 4
®) 5
) ‘7

@ 9

T GHITR A0t (AP) % 50 9GT &1 FHIGR
wen o e foraent waw 1 4 3Rk W
IR 4R ?

(a) 50

(b) 51

(c) 100

(d) 102

21, 34, 23, 39, 26, 37, 40, 20, 33,27 &
wren faem e (wrer @ foran )
R ?

(@) 011

(b) 022

(c) 033

(d) 044



100. Let @ and 3 be two unit vectors such 103. ggzsv;nﬂcelfotgﬁ:z t?t(t’xSiﬁ‘:s;tsa:::;
e V. e 0
that [@-b|<2. If 26 is the angle

Prd s are 2, 2, 4, 5 then what is the remaining
between a and b, then which one of observation ?

the following is correct ?

(2) 0<sind<1 only @) 4
) --11’-<si119<%only : ) 5
(©) -1 <sind <0 only R
@ -1<sing<1

@ 9

101. Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied :
together. What is the probability that 104. What is the arithmetic mean of 50

the last digit in the product appears terms of an AP with first term 4 and
as 07 common difference 4 ?
@ 16 50
10 _ (a)
® 1 ® 51
c) 100
© 2 o
(d 102
4
@ 3
\ - 105. What is the coefficient of mean devia-
102. The frequency curve (assuming uni- tion of 21, 34, 23, 39, 26, 37, 40, 20,
modal) corresponding to the data 33, 27 (taken from mean) ?

obtained in an experiment is skewed to
the left. What conclusion can be drawn

from the curve ? (@ 011
(a) Mean > Median > Mode () 022
(b) Mean > Mode > Median

2 (c) 033
(c¢) Median > Mean > Mode
(d) Mode > Median > Mean (d) 0-44
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F dw (03) & fou feafafas w
R $ifso .

100 % & 31 Y WAT F TH @A x,, x,,
X3, ... X, % Tt @ sioig am —20 3k
92 % ¥ Ak T T AWMl & WgeAd &
foraemt @ sfistia 9w 1402 |
106. 9T 1 AT FTT R ?

(a) 91

(b) 96

(c) 98

@ 99

107. 99 % | 3% T T Al & GY=AT &
foraet = <ficha awr = @ 2

(@ 0
(b) 10
© 20
(@) 40
108. 7 & A % QT AW F G

& et & sfishia 9w 180 &, @
H A TR ?

(a) 80
(b) 85
©) 90
@ 95

SDFR-S-HTM - A

I @ (03) v & fo et <@
(221) R R Hifva .

TF FE& W 51 BE! GRT WTHIS GHE Jui
(AP) & €, Fommm waw 1 4 8 3R 9 3R
3% |
109, WTHIEHT o1 AL 71§ ?

@) 67

(b) 71

(c) 75

d 79

110. WTHis Y Arfers =1 @ ?
(@) 795
(b) 79
(c) 785

@ 77

. 111, wifeda € s ¢ famedt &1 g

TR 7
(a -1
(®) 0
© 1

(d 2



Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, X3, .. X, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(a) 91
(b) 96
(c) 98

(d) 99

107. What is the algebraic sum of the

deviations of the same set of values
measured from 99 ?

(@ 0
(b) 10
(c) 20

(d) 40

108. If the algebraic sum of the deviations

of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(b) 85
() 90

(d) 95

37

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks ?
(a) 67
(®) 71
(c) 75

@ 79

110. What is the median of thé marks ?
@@ 795
(®) 79
(c) 785

@ 77

111. What is the sum of the deviations
measured from the median ?

(@ -1
(®) 0
() 1

d 2
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I W (03) wEt F oy Feafafea o=
(3e1) | R Hifvrg

s Al (Si) 3 forg 90 s & | SR
FWETE E | THAIPR AT A
I |

wrawmt | f-wrawt
+ wem = weu
AT
3ad & 18 9
F¥=
3ad
FH & 36 27
ERUES |
w @R Ga' e & % e ved andes
H IR T M e was e AR T
7% we & % o wee smes w1 wEeR

frn R AT 308 & 9w 2
112. P(G N T) forrd smrar @ 7
(@
(®)
©)
(C)

wlH jw LN K-

113. P(G|T) foreds srrex @ 7
(@)
(®)
©

N Ne Olw 9N

C))

SDFR-S-HTM - A

114. P('TIE) frad s & ?
@ 1

(b)

(IS

w|w

(c)

(d)

Blw

I @ (03) wE % foo Feafafes ==
(3er) ) =R it :

foret sam #, Rl # felt e @
difea e & weamst 6 e 331% ¥

115. 36 a1 $ a1 wilkear & 6 6 FEmt
¥ Y g9 &9 ¥ 3 FWIR 39 AWK A
Hifsa & ?

80
@ 259

10
(® 31

(© 243



Consider the following data for the next

three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience. '

Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience. '

112. What is P(G N T) equal to?

(a)

(b)

(©)

(d

s v L -

113. What is P(G ﬁ") equal to ?

(@

(b)

(©)

N Qe 9w 9N

(d

39

114. What is P(T|G) equal to?
(a)

1
4

(b)

W=

W

©

(d)

Blw

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331%.

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80
® 729

—
<

®)

o0
—_—

© 2%

@ 10
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116. 30 5/a & T Wilwar € 6 6wt wrer W (03) wE ¥ g Feafafea
AAFE M@ A MRa T & ?  IRaRar-sed | fer $ifs .

s e 0-20 | 20-40 | 40-60 | 60-80 | 80-100
(a) 0 w17 [ p+q | 32 [p-3¢] 19
F IRARAT 120 | 9154 50 R |
" % | 118 ??
. pH AR TR 7
L 5}5 @) 25
(b) 26
: © 27
@ 75 @ 28

117. 30 @ 9 71 Wik € & 6 sl 119. g A R ?

T AT T SR 30-S0 & (@ 1
il ®) 2
o 18 (c) 3
729 d) 4
®) 86 120. IR TAw Fe A IRARAT T W Q
729 ST, A AT AT BRI ?
(a) 25
653
© g () 50
() 75
596
@ 729 @ 100
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116. What is the probability that no one Consider the following frequency distri-
out of 6 workers suffers from a bution for the next three (03) items that

disease ? follow :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
(a)' % Frequency | 17 |p+gq 32 p-3q] 19

The total frequency is 120. The mean is 50.

) 4 .
729 118. What is the value of p ?
(@) 25
© 355 - (b) 26
243
(© 27
¥er 8 d) 28
(d) 729 (d)
119. What is the value of q?
117. What is the probability that at least @ 1 '
one out of 6 workers suffer from a
disease ? () 2
(¢ 3
728 -
@ =59 d) 4
120. If the frequency of each class is
(b) 665 doubled, then what would be the
729 mean ?
25
© 22 =
729 (b) 50
(c) 75
596 ;
@ 259 _ @ 100
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDFR-S-HTM Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

2.

9.
10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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